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"7 By '7 2 ppn ANY — And if one carves out in it an area of four
o°1ov by four o moY

Overview

Concerning an area which is surrounded by mx°nn less than ten 0°19v high,
and in a section of this area, a hole, '7 9¥ '7, is carved deep enough that now
there is ten 2°19V from the bottom of the hole to the top of the mx°nn, we
find a difference between naw n3%:77 and 71210 N1

Pertaining to 7210 M%7 in the above case it will be a valid 7210, providing
that the wall of the PP and the outer wall of the 7210 are less than three
onov from each other. If the distance between them is three 2°1dY or more
however, it is a 77209 771210, since we cannot combine the two N1 nn.
Concerning naw m>a%7 however, this enclosed area is always a °"7n,
regardless of the distance between the two mxnn.

moon will first ask and then explain the difference between these two ma%.
moon asks:

9107 NI SR R'"'2"® we — And the X2 has a difficulty with this X3
why is n2v different from a ;71210 -

's ;ma3 73987 — which is not high ten 2 5w, which renders it unfit' to be a 71910
i)

(%7 77) 719107 NP P92 MNRT — concerning which, the X713 says in the first
»aD of 17210 NOon, that if
"»h mavbwrh 72 ppn — he carved out in the floor of the 7010, a hole deep

enough to complete the total height of the 71210 to be ten o'now high, then the 17
is as follows:

720D 29DV '3 Yot ppn nown w ax — if the distance from the outer edge
of the carved out area to the original wall is three 2312v or more, the 71210
is 20D

mws s mins — if the abovementioned distance is less than three 2nov the
7910 1S WS

apopn S oM — however here by naw, carving out is sufficient to render
the interior of the house a *"71

7277 ©mon 3% nabom Y99eR — even if the carved out area is very distant

from the external wall, for the X7»3 here makes no stipulation as to the distance from
the 7p°pni 01pn to the external wall. Why is there this difference between naw and 712107

' We derive from 2109 that 790 must be at least ten 2°190 from the ground.

* In many instances, when two objects that are within 3 mdu of each other, we apply the >1on fwn? 7997 of
7125, meaning that they are joined as one. Here too, since both nm¥>nn are within 3 o°row of each other we
say 7127, that they are joined together as one whole mx°mn.
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N1voIN answers:

7120 923 anT RWT 79’0 — And the X"27 answered that there by 7210 it is
different, (than here by naw) —

To09 MDD NIRRT J9waT — for we require that the 712107 mxon be
sufficiently close to the 729

MEMR 3y a7 anT 9T — because, there in 7210 noon, we derive, the
necessity and requirements of MX°n -

n1oo2 noo2 novan — from the three times that the 7730 mentions the word
N(Y)2% (that a 7210 requires three walls)”

210D NIDTT 2 TISUVN PITT ANt RNRTS — As the X723 says there, that if
he placed the 720 at a distance of three 2°19v or more from the walls, the
D10 is 90D

"3 nID RO w2 9291 — and therefore we require that the distance from
the PP NOW to the 7191077 701> be less than three oonow

MITMR® PP W TITIAT XY XY — since it is necessary to combine the
height of the ppr with the nixsnn»

aPIT TAWD 909 NIDYAD 1T 97> — in order that the walls (of the 7>10)

should be close to the 720 that is directly above the Ymmmm 2IP%, and we
cannot combine these two walls (the outer walls of the 17910 and the embankment of the
ppn) if they are at a distance of three 0°1dv or more from each other, only if they are less
than three o°mou apart’.

By naw however there is no requirement that the mx°nn be near “anything”, therefore the
ppr and the YM> are A wx» for a 7¥°nn, even if they are apart from each other a distance of
three 0°119Y or more.

mooIn questions the validity of this answer:
NYAR T 7Y NWoR PR 19177 23 BY AXY — and even though the rule of 3217
map¥®, renders a 7w 700 up to a distance of four n1N; why is it then 77109

? Since the requirement of three walls is derived from the words "m210", which refer mainly to the 720,
therefore there is the requirement that the nx°nn be 7507 m2mo.

* Since that is the only 7w3 720, for it is the only 720 that is ten 2°nov above the ground beneath it. The
‘outside’ 720 does not have 2’190 " 77X beneath it.

> It would seem that if the distance is less than 3 ooy, then by utilizing the 17 of T12% we drag — so to speak
— the outer walls towards the ppr, and we have " mx°nn that extend from the bottom of the ppn directly to
the 790, so that the nmx°nn are 7207 M2mv. If however they are more than 3 o°nov apart and we cannot make
use of 717, then the outer wall cannot be ‘dragged’ inwards, and it is therefore adjacent to 9109 720 that is
less than 10 o°nov from the ground, and it is not 2w 7507 JM0.

® The rule of 7mIPY 1917 which is a *on nwn? 7597 states; that if there is a proper 7%°1n, however there is 720
2109 adjacent to the 7%°mn, then the 1°7 is as follows: if the 2105 720 is less than R '7 wide, which means
that the distance from the 7w> 750 to the 71%°mn is less than NX 7, the 71910 is 77W2, for we say Py 1917,
that the wall bends and curves — so to speak — and it is extended via the 9105 720 to reach the w3 720, so
that the n¥°nn and the “w> 720 are — as if — adjacent to one another. If however the 2109 720 is wide N '7
or more, then it is a 72109 71210 because we do not say TPy 1917, therefore the 7%°mn is not (Aw3) 7507 7210,
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by a distance of merely three 0°nov? Even though the outside wall is adjacent to 9109 720,
nevertheless let us utilize the concept of 7Py 1917, and since it is less than M»nX "7 from
the outside wall to 7w> 720, it should be a 7w> 17210.

mooin replies:

o"wn % yann — The X913 in 7910 NO0M answers this question’ and makes the
following distinction:

RNohHyn KX RORT 8297 991 o317 —The rule of 7mpy 1917 applies, only in
the case where there exist already proper mxsn»

73omR OMWDT XO97 9aR — however in a case where it is necessary to create
a Seomm, then —

MIXOIRT Ay TITAT 0usn 'an nnea — if the distance is less than three o rov,
then we can combine the embankment of the ppr with the external walls
7209 7128 8177, which renders the n1x°nn to be sufficiently close to the 728

nnvE» XY 95Y — more than this amount we cannot combine’ the 7173 and the
mx nn to be considered as one wall of ten 0’150 [and therefore we do not say 7a1pY 1917]
and it is a 79109 7010.

Summary
There is a distinction between the Mx°rn of Naw and the Mx°nn of 11010. The

mxeonn of a 10 are required to be 7007 M0, otherwise it is a 72109 1O0.
Therefore if the distance from the ppn to the outer wall is less than three
o°nov, then by utilizing 725, the outer wall is joined to the ppn 717°3 and
forms one straight 7x°nn which is ppra A"vw W 7007 . If however the
distance is three 2°15Y or more, then the outer wall remains adjacent to the
9109 700, and it is a 772109 71910.

The mx°nn of N2¥ on the other hand, serve to separate the inner °"77 from
the outside ‘world’. The area of the ppn is bounded by 7wy mx¥ nn, through
combining the heights of the two mx nn. The distance between them is
irrelevant, since the ppni 0p7 is separated from the outside by 7wy mxonn.
moon adds that even the concept of 7mpPY 1917 is not applicable to our
situation, because we utilize the concept of TPy 1917 only when there is a
valid independent 7¥°rn. This outside wall is not " M2 by itself, therefore
we cannot accord it the status of a Py 1917.

The 713777 of mmpy 1917 is only if the wall is adjacent to 2109 720. If there is an open space between the wall
and the 7w> 750 then it must be less than 30°nov of airspace otherwise it is a 72109 7910.

7 In connection as to why the T17°» must be within 3 o°mdv of the outside wall, while by a (‘regular’) 1917
Py it could be up to Nk "7 distance from the w5 750. The X711 there does not assume explicitly, that it
would be a naw 1°1y% 731N as MoOIN assumes here.

¥ As in our case, where the wall for which we want to say Py 1917 is, of its own accord, not a proper 7%m
at all, since it is 215V " MND.

? By saying 129, or alternately; by saying mapy 1917.
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Thinking it over
1. Which concept(s) were we made aware of in the original y17°n of the
X"2°7, which was not apparent to us in his X°wp?

2. Do we say 727 to extend the Ppni T17°) to the outside walls, or do we say
712° to join the outside wall to the pprin 717°3? Why!?

3. In the final analysis, even if there is more than three o’nov between the
PP and the outside wall, the area is nevertheless considered a °"717, which

means that there is a " 7¥°1n, so why then do we not say 721pPv 19177

4. Can we say that 7127 is more effective than 7mpy 19172



